B REFIERR (2ED)

FH it REFE 266 | 2714 | 2855 | 205 H:Jf;imm 2% | 3R | aERE
RERE=/BRFARRE FEREE—ERIK BEH 17 8 14 7 12 15 8 7 10
BRERE=/BMFAREZE EEIREm—BRHK B 24 13 20 16 14 15 10 8 10
REE=/BMARAFR BEEREH—ERK B 28 28 37 21 38 37 31 23 37
EERE REHG—ERIK 10 14 12 12 14 10 14 5 8
FELHE INERBE—ERIPK 28 43 44 66 40 39 33 33 36
FELHE HEBGE—FERIPK 42 54 44 50 35 40 26 28 31
FELHE ®REL 21 37 34 38 29 20 15 19 15
FELHE R RIRER B — B R (- B - W) 22 31 21 15 22 11 18
BTERE BFEXELT 55 45 67 52 51 49 56 55 37
BFHERE REL 64 52 74 58 68 54 65 60 45
BERFARHE/ EERE ERBLEEEE-EHE 92 85 106 76 103 84 108 95 78
BEMRAZEHZE T—RFRARY w1 R 19 20 22 10 8 8 26 18 13
BARBEFERE BEESREELT 9 2 6 1 2 4 13 8
BREAFEME BEFTRN(H—24% 4
REE= 2=E8 11 5 9 19 11 9 4 13 19
REREZ= EFERE=ET 15 15 7 16 18 11 17 8
REE= BAREH 10 15 12 12 18 10 13 15 8
RERE= EERET 24k 10 10 5 12 7 4 7
REE= EEERELT 3k 13 6 15 16 3 9 6
RiERE= EECADRE 2K 1
RERX BECADRES3MR 1 7 4 2 4 1
BRER= E D FERERTE 24 1
RERX EY D FEREERTE R 6 6 3 4 3 1 4 5
BRER= EY D FEREART 4R 1 1 2 1
RER= E-BIMBRREREE 3 3 4
RERE= E=EERREERE 24k 2 3 8 4 10 2 3
REREX B = MR EERE 3R 12 2 20 4 5
REEZ= HABLE LW 7 9 1 9 1 5 16 7
RER= BAARRERMIRE 1K 1 2 1
RiEE= AR ERMRE2R 15 8 5 9 10
RERX B AR E R MR E 3K 6 1 12 7
RERE= MILVEEIRIE R E T 2B LERE 9 22 28 17 14 15 16 12
RERX NV R R E 64 29 61 34 28 29 0 70
BRER= BTR-Frov—EERBERNHE 3 8 3 14 12 8 1
RERX INURS BN L — BREEE 15 9 4 17 4 6
RERE= EENTHEEEE 7 12 11 14 9 9
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